Chapter 1 - Business
relationship or
employer-employee
relationship?

This chapter sets out a method that should,
in most cases, allow payers and workers to
determine the nature of their relationship.

Each employment is unique and must be
examined and analyzed individually, based
on the facts, taking into account the context
of the employment.

To determine if a worker is an employee or
a self-employed individual, and thus if
there is an employer-employee relationship
or a business relationship, you have to
examine and analyze the terms and
conditions of the worker’s employment as
they relate to the following four factors:

1. Control

2. Ownership of tools

3. Chance of profit/Risk of loss

1.1 Contirol

4. Integration

Begin by looking at the terms and
conditions of employment as they relate to
control, as this is the most important factor.

Generally, in an employer-employee
relationship, the employer controls, directly
or not, the way the work is done and the
work methods used. The employer assigns
specific tasks that define the real framework
within which the work is to be done.

If the employer does not directly control the
worker’s activities, but has the right to do
so0, the notion of control still exists.

The degree of control exercised by the
employer may vary depending on the type
of work to be done and the employee’s
experience and skill.

Generally, the payer exercises control if he
has the right to hire or fire, determines the
wage or salary to be paid, and decides on
the time, place, and manner in which the
work is to be done.

Specifically, the payer may control:

the hours of work;

the assessment of the quality of the work;
the worker’s periodic activity reports;
the list of clients and the territory covered,;
training and development.

The fact that the payer controls the worker’s
activities does not imply that the payer
must know how to do everything that the
worker is required to do.

In short, the payer exercises control if he
has the right to decide where, when, and
how the work will be done.

In a business relationship, however, the
payer does not usually exercise control over
the worker’s activities. The worker can
decide how the work will be performed.

Analysis of facts

The following questions will help you
determine whether the payer does exercise
control over the worker. If it is obvious that
the payer controls the worker’s activities, it is
highly indicative of an employer-employee
relationship.



Analysis of facts related to control Payer Worker N/A
Who is responsible for planning the Work 10 06 dONE2 .........c.ccciiiiiiieeeeeeeeeeeeeeeeeeeeeeeee e | | |
Who decides how and how much the worker is 10 e PAIA2 .......c.coueuiuieeeeeeeeeeeeeeeeee e | | |
WHO deCIAES ON TE HIME FIAMESZ ..ottt ettt et et et e e e et e eee et et eeeaeeeeeeeeaes | | |
Who decides NOW the WOTK IS 1O D& AONE2 ...ttt ettt eeeeeeeeen | | |
WO AECIAES ON ThE NOUIS OF WOTK? ...ttt et e e e et e eae e e e e e e e e eaeeea | | |
WHhO decCides 0N The WOTK IOCOHONZ ....vveeeeeeeeeee et ettt et et et e e eee et eeeeeeeeeeeseeeeeenas | | |
WhO assigns the INAIVIAUGT TASKS2........vvvveieieereeeeeeeeeeeeeeeete ettt see s seeseeeessesesanesans | | |
WHO SUDEIVISES ThE TASKS? ..ottt ettt e et e e e ee et e ee e eeeseee s ena e e s eneseaeeeaes | | |
Who sets the standards to be mete
— QUUAITYZ ettt ettt ettt ettt ettt eeans | | |
— VOIUMIBZ ..ttt ene s s nnes I I I
e TIIE FTOIMIE 2 ettt ettt ettt e e et e et e s et eae et e e et ea et ea e e eee et eseeeeeeenaeeeneeas | | |
Who decides Whether WOork MUST D& FTEAONER ...ttt eeenen | | |
— WHO COVETS ThE FEIATEA COSTSZ .ottt ettt e et ee e eee e eeeeeeeenens | | |
WhO is responsible fOr rAINING? .......ovcviueeeieieeeeeee ettt ] . .
— WO COVETS TN TEIATEA COSTSZ .ottt ettt et ettt ee et ee et e e e e e eaenes | | |
Who decides on the termitory 10 D& COVEIrEAZ ... | | |
Who decides on periodic ACtiVity FEPOMINGZ . ... ] ] ]
Who decides if the work is to be done by the worker himselfe ...........ccocoveveeoeieieeeeeeeeeeee, | | |
WO NITES NEIDEISZ ..ottt ettt ettt e e e ee e e e e e e et eeeeeeeses e e e s eneseeenaes | | |

If you answer “Payer” to most of these questions, it means that the payer exercises control over the worker. An employer-employee relationship
probably exists. Otherwise, it indicates that a business relationship may exist.
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1.2. Ownership of tools

Proceed with the analysis of the terms and
conditions of employment as they relate to
the ownership of tools.

The main points to consider are:
m the amount invested;
m the value of equipment and tools; and

m the rental and maintenance of
equipment and tools.

In an employer-employee relationship, the
employer generally supplies the equipment
and tools required by the employee. In
addition, the employer covers the following
costs related to their use: repairs, insurance,
transport, rental, and operation (e.g., fuel).

In some trades, however, it is customary for
employees to supply their own tools. This is
generally the case for garage mechanics,
painters, and carpenters. Similarly,
employed computer scientists, architects,
and surveyors sometimes supply their own
softwares and instruments.

In a business relationship, workers
generally supply their own equipment and
tools and cover costs related to their use.
When workers purchase or rent equipment
or large tools that require a major
investment and costly maintenance, it
usually indicates that they are
self-employed individuals, because they
may incur losses when replacing or
repairing their equipment.

Analysis of facts

The following questions will help you
determine who risks incurring losses related
to the ownership of equipment and tools.



Analysis of facts related to ownership of tools Payer Worker N/A
Who supplies the heavy equipment or covers its rental COSTS2 .......o.iiiiiiiieeieeeeeeeeeeeeeeeeeeeeeeees ] ] ]
Who supplies the specialized equipment or covers its rental COStS2 ......ovvveiieeeeeeeeeeeeeeeeeen I I I
Who covers equipment MAINTENANCE COSTS2 ...ttt eeeeees | | |
Who supplies the large tools or covers their rental COSTS2 ... | | |
Who supplies the specialized tools or covers their rental COSTS2 ... | | |
WHhO SUPPIES ThE SINQII TOOISZ ...ttt e et s e eeaeas | | |
WHhO COVErs 10Ol MAINTENGNCE COSTS2 ..ottt e et e et e e e e e e e e eee e eeeeeeeeeeeeeaeeen | | |
WHhO SUPPIES ThE MATEIIAISZ ...ttt ettt eas | | |
Who has invested in the equipmMeNnt AN TOO0IS2 ........c.c.iuiuiiiiiieeeee ettt eeees | | |

If you answer “Payer” to most of these questions, it means that by supplying the tools and equipment, the payer exercises control over the worker.
There is no risk of loss for the worker. An employer-employee relationship probably exists. Otherwise, it indicates that a business relationship may
exist.

Ownership of tools



1.3. Chance of profit/
Risk of loss

Proceed with the analysis of the terms and
conditions of employment in terms of the
chance of profit and risk of loss.

You have to examine the worker’s financial
involvement. Determine if the worker:

m  has the chance of making a profit;

m  risks incurring losses due to bad debts,
damage to equipment or materials, or
unforeseen delivery delays; and

m  covers operating costs.

Generally, in an employer-employee
relationship, the employer alone assumes
the risk of loss. The employer also generally
covers operating costs, which may include
office expenses, employee wages and
benefits, insurance premiums, and delivery
and shipping costs. The employee does not
assume any financial risk, and is entitled to
his full salary or wages regardless of the
financial health of the business.

The income of an employee paid by the
piece or on commission does not depend on
the losses or profits of the employer’s
business. The employee is paid the same
per-unit amount no matter how many
pieces the employer requires him to
produce or sell.

In a business relationship, the
self-employed individual may make a profit
or incur a loss. He also covers operating
costs. There is no guarantee of a steady
income because the self-employed
individual’s income depends on the results
achieved by the end of the contract.

Analysis of facts

The following questions will help you
determine if the worker has the chance of
making a profit or risks incurring losses.



Analysis of facts related to chance of profit/risk of loss Payer Worker N/A
Who covers the costs of damage to equipment or MAterials2.........c.ovveeeiieeeeieeeeeeeeeeeeeeeeeeeeeeeas | | |
Who covers the costs of IADIlitY INSUTGINCE 2 ........ovuiieeeeeeeeeeeeeeeeeeeeee ettt | | |
WHO COVEIS OffICE EXPENSES2 ...ttt e s ee ettt et es et st et et es et eseseeeseneseeeeeseena | | |
WO COVETS TENTAI COSTSZ .ttt ettt et et et e e et eee e et et et et ee et eeeee et et es et eeeeeee et ereeeeeeeseaeeeeaen | | |
Who covers delivery and ShiDRING COSTS2 .......uiuiuiieieeeeeeeeeeeeeeeeeee s sesen st eseseseseseena ] ] ]
Who covers Costs related 10 DA AEIDTSZ ...ttt et ettt eeeeeeeaen | | |
Who assumes responsibility for ensuring that guarantees relating to materials are honoured?.. ] ] ]
Who assumes responsibility for the performance of the WOrk2 .........cceveeeeeeeeeeeeeeeeeeeeeeen | | |
Who guarantees the qUAlity Of The WOTK 2.ttt | | |
Who covers the costs incurred by the worker in carrying out the Work2 ..........ccoeeveeeeveeeeeeeennne. ] ] ]
Who covers the costs of the worker’s benefits (paid vacation, sick leave, life insurance

OFEMIUMS, E1C.)2 ...ttt e st ettt et ettt es et et etesesa e e e eeaeesaeeeeeeenenas I I I

If you answer “Payer” to most of these questions, it means that there is little involvement on the part of the worker, and that his income does not
depend on the results achieved at the end of the contract. An employer-employee relationship probably exists. Otherwise, it indicates that a
business relationship may exist.

Chance of profit/Risk of loss



1.4 . Integration

If you were not able to determine the nature
of the relationship between the payer and
the worker with the first three factors, you
have to pursue the analysis. The final factor,
integration, should settle the question.

Integration has to be considered from the
point of view of the worker, not the payer.

Where the worker integrates the payer’s
activities to his own commercial activities, a
business relationship probably exists. The
worker is acting on his own behalf, he is not
dependent on the payer’s business and he is
in business for himself.

Where the worker integrates his activities to
the commercial activities of the payer, an
employer-employee relationship probably
exists. The worker is acting on behalf of the
employer, he is connected with the
employer’s business and is dependent on it.

Analysis of facts

The following questions will help you
determine if the worker is in business for
himself and, thereby, if an
employer-employee relationship or a
business relationship exists.

This last analysis consists of a global review
of the first three factors.

Integration

What was the answer to most of the questions related to the control faCTore .........oovvvveeeeceeieeeeeeee
What was the answer to most of the questions related to the ownership of tools factore ...l
What was the answer fo most of the questions related to the chances of profit/risk of loss factore...........

Payer Worker
] ]
] ]
] ]

If you answer “Worker” to these questions, it indicates that the worker integrates the payer’s activities to his own activities. A business relationship

probably exists. Otherwise, it is reasonable to conclude that an employer-employee relationship exists.

Still in doubt?

If, after analyzing facts relating to the four factors, you still can not determine the nature of the relationship between
the payer and the worker, contact your tax services office, where you can obtain a ruling request form. You have
until June 30 of the following year to request a ruling.



Summary table

In the following table, we brought together all of the questions that appear in the first 3 tables of this chapter. You might want to copy this sheet,
which gives you a summary of the preceding pages.

Payer Worker N/A

Who is responsible for planning the Work 10 06 dONE2 ..ot | | |
Who decides how and how much the worker is 10 e PAIA2 .........coueueuieceeeeeeeeeee e | | |
WHhO deCides ON the HIME fIOMESZ ... ettt et ettt et et et e e e ee et et eaeeeeeeeeaeeeeaen | | |
Who decides NOW the WOTK IS 1O D€ AONE2 ...ttt eeeeeeeeen | | |
WO AECIAES ON ThE NOUIS OF WOTK? ..ottt ettt e et e et e et eeee e e eaenea | | |
WhO decides 0N the WOTK IOCOTIONZ ...ttt e et e e e eee e I I I
WhO assigns the INAIVIAUGT TASKS2........vovvviieeeeeeeeeeeeeeeeeeete ettt ee e ssessese s s esanenaes | | |
WHO SUDEIVISES ThE TASKS? ..ottt ettt ettt et et ee et ee e e eeeaeee e ena e e s eneeeeeaeaes | | |
Who sets the standards to be mete

— QUAITYZ ettt ettt ettt ettt ettt aeanaes | | |

e VOIUMIE et ettt et e e et e s e e et et e e s et et ee e e e et esesee et et eeee et eeeseneeeaen | | |

e TIIE FTOIMIE 2 ettt ettt ettt e e et e et e e et eae e e e et eae e ea e e eeeeeeseeseeeenaeeeneea | | |
Who decides Whether WOork MUST D& FTEAONE? ...ttt ee s | | |

— WHO COVETS ThE FEIATEA COSTSZ .ottt ettt e et et e et et e e eeeeeeeenens | | |
WhO is responsiDIe fOr trAINING2 ......vovveveeeeeeeeeeeeeeeeee ettt es s s esanenaes I I I

— WO COVETS The TEIATEA COSTSZ .ttt et et ee ettt ee et e et e eeeeeeeaenes | | |
Who decides on the termitory 10 D& COVEIrEAZ ...t | | |
Who decides on periodic ACtiVity FEPOMINGZ . ... e ] ] ]
Who decides if the work is to be done by the worker NiIMSEIf2 .........c.oooeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeans | | |
WO NITES NEIDEISZ ...ttt ettt et e sttt ettt s et s et esesee et esesesee e eeeaeeseeeeeeeenenas | | |

Table continues on the back =

Integration and Summary table



Summary table (cont.)

Payer Worker N/A

Who supplies the heavy equipment or covers its rental COSTS2 ........ooviimiireeeeeeeeeeeeeeeeeeeeeans | | |
Who supplies the specialized equipment or covers its rental COSTSe ....ovvviiiivviieieieeeeeeeeeeeeee I I I
Who covers equipment MAINTENANCE COSTS ...ttt I I I
Who supplies the large tools or covers their rental COSTS? ...ttt | | |
Who supplies the specialized tools or covers their rental COSTS2 ..o | | |
WHO SUDPIES ThE SINQI TOOIS2 ...ttt ettt e et e e eeeeeseaeeeeeseaeeenenas | | |
WHhO COVErs 1OO] MAINTENGNCE COSTSZ ..ottt et et ettt et et ee et ee e eee e eeeeeeeseeeeeeeeeeeeereeeaes I I I
WHO SUDPIES ThE MIGTEIIAISZ ...ttt ettt e e e e et e e e et eeeseneeeseseaeeenenas | | |
Who has invested in the equipmMent ANA TOOIS2 ..o I I I
Who covers the costs of damage to equipment or MAterials2.........covieeiieeieeeeeeeeeeeeeeeeeeeeeeeeens | | |
Who covers the costs of IADIlitY INSUFGINCE 2 ..ottt I I I
WHO COVEIS OFfICE EXIDENSESZ ...eveveeeeeeeeeeeeeeeee et eeee e eeeeeeeeeeeeeseaeaeeeeeeseaeeeeseseseeeteseseseeseseseseeeesseaeeenens | | |
WO COVETS TENTAI COSTSZ vttt ettt ettt et et ee et eeeetes e e eeeeteee et eseeeeeeeeeeeeeeseeeeeeeseeeeeneessaeeeeaeeas I I I
Who covers delivery and ShiDRING COSTS2 .......uuiuiieieieeeeeeeeeeeee et se e es s s en e eseseneneena | | |
Who covers Costs related 1O DA AEITSZ .....ueeieeeeeeeeeeeeeeee ettt ettt et eeeeeaas I I I
Who assumes responsibility for ensuring that guarantees relating to materials are honoured?...... I I I
Who assumes responsibility for the performance of the WOrk2 .........ooeeeeeeeeeeeeeeeeeeeeeeeeeens | | |
Who guarantees the qUAlity Of The WOTK 2.ttt | | |
Who covers the costs incurred by the worker in carrying out the Work?2 ........c.cooveeeeeeeeeeeeeeenee. | | |
Who covers the costs of the worker’s benefits (paid vacation, sick leave, life insurance

OFEMIUMS, E1C.)2 ..ottt ettt ettt et e et s et et etesesaeaeseseaeeseeeeeeeenenas | | |




Chapter 2 - Responsibilities
Employer-employee relationship

Where an employer-employee relationship
exists, the employer must:

m  register to Revenue Canada Business
Number (BN);

m  withhold income tax, Canada Pension
Plan (CPP) or Quebec Pension Plan
(QPP) contributions, and Employment
Insurance (EI) premiums on amounts
paid to employees;

® remit the amounts withheld as well as
the required employer’s share of
CPP/QPP contributions and
El premiums to Revenue Canada (and
le ministére du Revenu du Québec if
applicable);

m  report the employees’ income and
deductions on the appropriate
information return; and

m  give the employees copies of their
T4 slips by the end of February of the
following calendar year.

For more information on this subject, see
the pamphlet entitled The Business Number
and your Revenue Canada Accounts and the
Employers’ Guide to Payroll Deductions — Basic
Information.

The employer is also responsible for
registering with the relevant provincial
organizations if applicable (Work Place
Safety and Insurance Board (WSIB), for
example).

Note

Generally, the employee could be eligible
for El benefits. The employee can also be
eligible for employee benefits, such as
sick leave, wage loss replacement plan,
profit sharing.

If a payer considers a worker as a
self-employed individual while the worker
is in fact an employee, the payer will have
to pay both parts of EI premiums and
CPP/QPP contributions for the complete
duration of the employment. Penalties and
interest can also be charged. It is therefore
very important to correctly determine the
type of employment relationship.

Business relationship

Where a business relationship exists, and
where the self-employed individuals’
income exceeds $500 or income tax has been
deducted, the payer must:

m report the self-employed individuals’
income and tax deductions, if any, on
the appropriate information return; and

m  give the self-employed individuals
copies of their T4A slips by the end of
February of the following calendar
year, if applicable.

For more information, see chapter 6 of the
Employers’ Guide to Payroll Deductions — Basic
Information.

Self-employed individuals must pay both
shares of CPP/QPP contributions. They
may also have to pay their income tax and
CPP/QPP contributions in instalments. For
more information, see the guide entitled
Paying Your Income Tax by Instalments.

Note
Generally, self-employed individuals are
not eligible for El benefits.

Special situations

Special rules concerning EI, CPP/QPP, and
income tax may apply for certain categories
of self-employed individuals, including:

m  barbers and hairdressers;

m  drivers of taxis and other
passenger-carrying vehicles;

m fishers; and

m  placement and employment agency
workers.

For a complete list of the situations where
special rules may apply, or for more
information, see chapter 8 of the Employers’
Guide to Payroll Deductions — Basic
Information.
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Chapter 3 - Excluded
Employment and Non-Arm’s
Length Relationship

Excluded employment

As a rule, an employee pays Employment
Insurance (EI) premiums and may be
entitled to receive El benefits. However, if
the employment is excluded employment
under the Employment Insurance Act, the
employee does not have to pay premiums
and is not eligible for El benefits.

Employment may be excluded for a number
of reasons. One of them is a situation where
the employee and employer are in a
non-arm’s length relationship (see the
glossary).

Non-arm’s length relationship

The purpose of excluding employment
where a non-arm’s length relationship
exists is to minimize occurrences where a
person would simulate an employment

situation for a parent, a close friend, or a
partner solely to obtain that a request for
employment insurance premiums be
accepted.

Under the Employment Insurance Act,
employment that is excluded because of a
non-arm’s length relationship can still be
included, if the Minister of National
Revenue (or his representative) is satisfied
that the terms and conditions of
employment are reasonable.

Where the Minister (or his representative)
examines the terms and conditions of
employment, he analyzes a number of
factors, including:

m the remuneration paid;

m the terms of employment (e.g., hours of
work, duties);

m the duration of work performed; and

m the nature and importance of work
performed.

After the analysis, if the Minister (or his
representative) is satisfied that it is
reasonable to conclude that the employer
would have offered a substantially similar
contract of employment to an unrelated
person, the employment is no longer
considered to be excluded.

For a complete list of the types of
employment that are excluded, or for more
information, see chapter 3 of the Employers’
Guide to Payroll Deductions — Basic
Information.

Analysis of facts

The following are examples of questions
that the Minister (or his representative) will
ask to determine if it is reasonable to
conclude that the employer would have
offered a similar contract of employment to
an unrelated person.



Is the employee’s salary comparable to that of other employees with similar tasks in the business?2

Is the employee’s salary comparable to that of employees with similar tasks in similar businesses in the area?

Is the employee’s salary reasonable given the tasks performed?

Does the employee receive his salary regularly?

Did the employee invest in the business? If yes, was it a major investment?

Are the employee’s hours of work comparable to those of other employees with similar tasks in the business?

Are the employee’s hours of work comparable to those of employees with similar tasks in similar businesses in the area?
Are the employee’s tasks comparable to those of other employees with similar jobs in the business?

Are the employee’s tasks comparable to those of employees with similar jobs in similar businesses?

Are the employee’s tasks necessary to the well-being of the business?

Is the employee’s work duration comparable to that of other employees of the business, considering low activity periods?

Is the employee’s work duration comparable to that of employees with similar jobs in similar businesses in the area, considering low activity
periods?

Does the employee perform tasks related to his employment (e.g., bookkeeping, public relations, attendance at conventions, sales) during his
periods of inactivity?2

Is the employee’s work duration related to the business’s real operatfional requirements?

Is the importance of the employee’s work comparable to that of other employees of the business?
Is the employment essential fo the business?

Is the nature of the employee’s work comparable to that of other employees of the business?
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